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1. 	 f~ $~ , # 20% ' -ij:'1'~ 5% : 

(a) ~a*¢k velocity potential ' ~trp' 8¢ / oy 1-t*a~k.:&Ji·4bJJ!"? 
( b) ~tMi}i1}~ pq ~ ~~ i~ Jt.1iiJ =tt{Iffdt ' ;f 116 t5t ~ 100 iJii j:~k tlJ ~ {fj 1~ Cdynam i c s imil ar) , ? 
(c) ~f>taJ:1 streamline a~ Jt~ 


Cd) ~trp'~ p(x, y)~Jt:h )}11ji , ~trprvp :t..it*j{.i\.~a1iiJ*;.F? 


2. 	 The equation of the stream function for a 2-D flow is given by 

lJI= 3x2 + 2xy 


Determine the velocity ofa fluid particle at point (4,1). (20%) 


3. 	 A 2-D incompressible flow has the velocity field: V = x i - (3x+y) j. Does it satisfy the equation 

of continuity? Please prove it! (20%) 

4. 	 In a 2-D incompressible flow, the velocity is given as 

V (2xy)i + (x2 _ y2) j 

Please check whether this flow field represents an irrotational flow. (20%) 

5. 	 For a 2-D incompressible flow with velocity potential ¢ given as ¢ = xy2 - 2yx2. Please find the 

pressure difference between (2, 1) and (4, -2). (20%) 
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